1. (x+a?=x+bx+9 2, a-b9 & Fstofet (Ha>0)
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=9 a=3

(x+3)2=x2+6x+9 .b=6
wtebA g —b = 3 - 6 = -3 o]t}




2. (x-8)2 = tax+by? DU, atb O FE Fatelet
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> =g 48

(x—8y)? = x% — 16xy + 64y? ]2 q = -16 , b = 64 ©|T},
Sa+b=-16+ 64 =48
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O& T &2 A2?

flo

® (-a-b)?=

—(a+b)?

@(—a +b)? = a® — 2ab + b*

® (~a+2)(-a-2)=-da®>-4

@ (2a-b)? = 4a® - b?

® (a+b)?-(a-b)*=0
B
—a-b)?2={-(a+b)})®>=(a+b)?

—a+b)?={-(a-b)}’

(-a)?-22=a%-4
2><2a><b+b2—4a

(a+
Z, (a-b)? =a® - 2ab + b?

— 4ab + b?




x—-y=5x>+y? =94, xy°] F2?

@ -5 @—8 ® -10 @ -12 ® -14




5.1 4.9 & ZHHSH ARSI $isto] o] §EI B4 FHOE AU

@ (a-b)?=a®-2ab + b?

@) (a+b)a-b) = a-p?

® (x+a)(x+b)=x*+(a+b)x+ab

@ (ax+b)(cx +d) = acx® + (ad + bc)x + bd

® (a+b)? =a?+ 2ab + b?

5.1% 4.9 = (5+0.1)(5 - 0.1) = 25 — 0.01
W2t (a + b)(a—b) = a® — b* & AHESHH




(8—1)(8+1)(82 4 1)(8* + 1) — 88
= (82 -1)(82+1)(8* +1) - 88
=B -1)(8* +1)-88

= (88-1)-88
=-1
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Fololat.

(1004 — 1)(1004 +1) +1 1004 — 1 + 1

1004 1004
= 1004




8. a+b=6,ab=8 AW, a®+ b Z2?

@ o @ 10 ® 15 @ 18 (@)20

@®+b% = (a+b)%—2abO|BR, 62 - 2x8 =36 - 16 = 20




9.

x+y=3,xy=-4 40, (x-y)? 9 G227

@ 20 @25 ® 7 @ 5

(x=y)?=(x+y)?-4dxy=3%-4x(-4) =25




10. B4 BAE AH8310), 201 x 199 5 ALKE o] 714 Weler 24,29

® (a+b)? =a?+2ab + b?
@ (a-b)?=a*-2ab + b?
@) (a+b)a-b) = a®-p?
@ (x+a)(x+b)=x>+ (a+b)+ab

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd

~&B

201 x 199 = (200 + 1)(200 — 1)
— 2002 — 12
= 39999

. (a+b)(a-b) =a®-b*E 0|83t}




